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November     igher Maths Calendar

#abitofmathseveryday
ℎ−1 𝑥 =

3
𝑥 + 8

Since only one 
point of contact, line 
is tangent 
(or since b² - 4ac = 0)

Point of contact 
is (3, 9)

C(0, 4)
radius = 11

−2(𝑥 – 3)² + 25 𝑦 = log5𝑥 𝑦 = −4𝑥 − 12 𝑥 =
𝜋
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𝑦 = −3𝑥 + 19
Limit exists

since -1 < 0∙2 < 1
Limit = -50

−
5

8
𝑓 𝑥 = 𝑥3 + 8𝑥 − 16 2cos(𝑥 − 330)° 40(5𝑥 − 2)7

𝑥 + 1 𝑥 − 5 𝑥 + 4

𝑥 < −6
and
𝑥 > 3

𝑘 = 6 𝑥 =
3

2 10 units 𝑢7 = 10

𝑦 = 5𝑥 − 26
𝑅𝑆 : 𝑆𝑇 = 3 : 4

and S is a
common point

𝑦 = −
1

4
𝑥 + 2 𝑥 ≤

9

4
Max TP @ (-2, 27),
Min TP @ (2, -5)

−
25

7

𝑚 = −1
a = 6
b = 8
c = 5

𝑦 = 2𝑥 y = -(x + 3)²(x – 5)
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